Counting Declarer’s Distribution - Test
I.   In each of the following auctions, give your best estimate(s) of South’s suit distributions:

  (A)




  (B)




 (C)
South

North


South

North


South

North
 1NT

  2C


  1S

   2D


  1S

  2H
  2D

  3H*


  2H

  2NT


  2NT

 3NT

 3NT   .
 Pass


  3S

  3NT


 Pass
*Showing 5 sp and 4 hts

  (D)




  (E)




  (F)

South

North


South

North


South

North
 1H

 1NT


  1H

 1NT
  

  1S

  2C
  2S

 2NT


  2S

 2NT


  2H

  3S  
  3S

  4S  


  3H

 3NT


 3NT

 Pass
II.  In a heart contract, declarer leads a spade toward dummy. The King of Spades wins. Later, declarer 
      leads up toward the dummy again. (i) What spade did you play the 1st time? (ii) The 2nd time?



North (dummy)



♠ K Q J 8

West







(i)

(ii)
a. ♠ 7 5 2






      ________
       ________





b. ♠ T 7 6 3





      ________
       ________

c. ♠ 9 7 6 5 2





      ________
       ________

d. ♠ T 9 5 3





      ________
       ________

e. ♠ T 4






      ________
       ________

III.  South is playing a heart contract and leads a spade from dummy. He finesses the ♠Q, cashes the ♠A, 
       and then trumps the ♠9 in dummy. Assuming they wished to give count, which cards in what order did 
       East and West play to these three tricks?
North (dummy)



♠ 5 4


West



East



West

East





♠ T 8 7



♠ K J 6 3 2




South

     



______
______ 




♠ A Q 9
IV.   




North (Dummy)






♠ 5 2


You lead the ♦Q, dummy plays low, partner plays the





♥ K Q 5 4

♦8, and declarer the ♦3. You continue with the ♦7, to





♦ A 6 2

 
dummy’s ♦A, partner’s ♦K, and declarer’s ♦4. 





♣ 7 6 5 4

Declarer draws three rounds of trumps, partner


West (You)




discarding the Three of Hearts on the third round. 


♠ 7 6 3




  



♥ A T 7 2




(a): What is declarer’s entire distribution?
♦ Q J 9 7




(b): Declarer now plays a low heart. What heart


♣ Q T





       do you play? Plan the defense.
V.

North (Dummy)


West leads the ♠K, won in dummy, and a spade is ruffed at 


♠ A 7 2



trick 2. A diamond is led dummy, partner playing the ♦J, and


♥ J T 6 5



dummy’s last spade is ruffed in the closed hand. Declarer now


♦ K Q T 8 6
 
 

plays the Club Ace, King, and ruffs the Four of Clubs in


♣ 9




dummy. Partner has played the ♣ 7 – 3 – 2 in that order. 




East (You)




 




♠ J 9 5 4

(a): What is declarer’s original distribution?

  





♥ A Q 8 2

(b): What heart do you play when the ♥ J is next led from
♦ 4


        the dummy? 




♣ Q 8 6 5
VI.

North (Dummy)


West leads the ♠ K which holds, but South ruffs the 2nd spade. 


♠ T 6 5



 
Declarer enters dummy with a club, (partner playing the ♣ 4), 


♥ 6 4 3




ruffs another spade, and then plays the ♦Ace, ♦King, and ruffs 


♦ A 2 
 



the Five of Diamonds in dummy (partner playing the ♦ 8-7-3


♣ K Q T 9 8



in that order. 





East (You)




 




♠ A J 9 8 3

(a): What is declarer’s original distribution?

  





♥ J 7 5 2

(b): What heart do you play when a low heart is next 
♦ Q J 9

        led from
the dummy? 




♣ J

VII.

North (Dummy)


West leads the ♠A, ruffed by South. Declarer plays the ♥A, 


♠ 8 7


 
 
followed by the ♥10 overtaken by dummy’s ♥J. West follows
♥ J 7 2




to both hearts. South next ruffs dummy’s last spade. Declarer 


♦ A 9 6 5 



now leads the Five of Clubs to dummy’s Jack and your Queen.


♣ K J 9 4



Partner played the Eight of Clubs on this trick.  





East (You)




 




♠ K J 9 6 4 3

(a): What is declarer’s original distribution?

  





♥ 5 3


(b): How do you continue from here? 
♦ 2

        




♣ A Q T 3


VIII.   




North (Dummy)






♠ Q J 6 5

You lead the ♥Q, dummy wins as partner plays the





♥ A 4 3

♥8, and declarer the ♥6. South draws two rounds of





♦ A 2

 
trumps, partner following. Next he plays ♦A and ruffs





♣ A J 4 3

a diamond. Finally he plays ♥K and exits a heart to 


West (You)




your Ten as partner plays the ♥ 5 and the ♥ 2. 


♠ 3 2




  



♥ Q J T 9




(a): What is declarer’s entire distribution?
♦ J 8 7 6 4




(b): What do you lead now?


♣ 7 2

Counting Declarer’s Distribution – Answer Key
I.  a.
3 Spades, 2 Hearts, and either 4-4 or 5-3 in the minors. We’ll assume 4-4 until there is evidence otherwise.

    b.
6 Spades, 4 Hearts and 3 minor suit cards, but probably not 3 diamonds. 

    c.
5 Spades, 2 Hearts, and 3-3 in the minors. South is unlikely to have a doubleton minor, although he might


have either 5-1-3-4 or 5-1-4-3 distribution and not want to use up so much room to bid the 4 card minor. 

d. 5 Spades, 6 Hearts, and 2 minor suit cards. We’ll assume 1-1 until there is evidence otherwise. 

e. 4 Spades, 6 Hearts, and 3 minor suit cards.

f. Very likely to be exactly 5-4-3-1 with good diamonds. It’s also possible South has weak spades. If he does, expect a fitting club honor and a diamond stop – perhaps 5-4-2-2. 
II. 

  i  

  ii_
    a.

♠ 7

♠ 5
upside down (high = odd) 1st time played, standard (high = even) 2nd time.

    b.

♠ 3

♠ 6
upside down (low = even) 1st time played, standard (low = odd) 2nd time.

    c.

♠ 7 

♠ 6
upside down (high = odd) 1st time played, standard (high = even) 2nd time.

    d.

♠ 3

♠ 5
upside down (low = even) 1st time played, standard (low = odd) 2nd time.
    e.

♠ 4

♠ T 
upside down (low = even) 1st time played, forced play 2nd time.

III.

       West

       East

West can afford the ♠10 on the first round, since East


   ♠T, ♠8, ♠7

   ♠6, ♠3, ♠2

did not play an honor.



IV.




North (Dummy)


Declarer is marked with 6 spades from 





♠ 5 2




the play of the suit, 4 diamonds from 





♥ K Q 5 4



East’s failure to signal at trick 1, and 1





♦ A 6 2




heart from East’s discard signal. Notice


West (You)

♣ 7 6 5 4

East 

that East discards the ♥3 to give his


♠ 7 6 3





♠ 9 4

partner the count, even though it costs 


♥ A T 7 2




♥ J 9 8 3
an overtrick if declarer has the ♥A. He
♦ Q J 9 7




♦ K 8

can afford to do this because he can
♣ Q T


South


♣ J 9 8 3 2
count that declarer has at least 10 tricks 





♠ A K Q J T 8



if he holds the ♥A anyway. 





♥ 6




 





♦ T 5 4 3



West should rise with the ♥A, exit 





♣ A K 




with a club, and wait for his two known










Diamond tricks. 
Note that South could have made this hand if he had cashed both high clubs before leading his singleton heart. 
V.    
North (Dummy)


Declarer is marked with 1-3-6-3 distri-





♠ A 7 2



bution from how he is playing the hand





♥ J T 6 5



as well as partner’s count signal in clubs





♦ K Q T 8 6


West


♣ 9


East (You)
You need to play a low heart when the 


♠ K Q T 8 6




♠ J 9 5 4
♥J is led from dummy. Your only hope 


♥ K 7





♥ A Q 8 2
is that partner holds the ♥K, in which 
♦ J





♦ 4

case you can take 3 heart tricks. If you 
♣ J T 7 3 2

South


♣ Q 8 6 5
play the ♥A or ♥Q you block the suit. 





♠ 3




Strangely enough, if you are defending





♥ 9 4 3




six diamonds, and the play goes the 





♦ A 9 7 5 3 2



same, you need to play the ♥Q, hoping 





♣ A K 4



partner holds ♥9x, (and sees to unblock)
VI.  




North (Dummy)


Declarer should be 1-3-3-6. You should





♠ T 6 5




assume that if partner had a 2nd small





♥ 6 4 3




trump that declarer would have pulled it





♦ A 2




before messing around with other suits.


West


♣ K Q T 9 8

East (You)


♠ K Q 7 4




♠ A J 9 8 3
When a low heart is led from dummy, 


♥ K T 9




♥ J 7 5 2
you must play the ♥J!  You need two
♦ T 8 7 6 3




♦ Q J 9

heart tricks, and if declarer has ♥AQx, 
♣ 4


South


♣ J

you cannot allow him to duck this trick





♠ 2




to your partner, who will be end played,





♥ A Q 8



having to either lead a heart from his 





♦ K 5 4




♥K, or give declarer a ruff-sluff. 





♣ A 7 6 5 3 2
Whenever declarer has stripped a hand, (removed all safe side exits), be alert to preventing an end-play against your partner.  If often requires playing an unnaturally high card from 2nd hand. (See Second Hand Play).
VII.   
North (Dummy)





♠ 8 7




Judging from partner’s club play, 





♥ J 7 2




declarer’s should be 0-6-5-2. 





♦ A 9 6 5


West


♣ K J 9 4

East (You)
Win the ♣Q, cash the ♣A, and exit with


♠ A Q T 5 2




♠ K J 9 6 4 3
and spade (or a club) giving declarer 


♥ 6 4





♥ 5 3

a ruff-sluff that will not help him. Let
♦ Q 8 7





♦ 2

declarer work out the diamond suit
♣ 8 7 2


South


♣ A Q T 3
distribution himself. In fact, your 





♠ ----




reluctance to break the diamond suit 





♥ A K Q T 9 8



may well induce declarer to play you 





♦ K J T 4 3



for that key ♦Q that he so desperately 





♣ 6 5




needs. 
Once again, counting out the hand comes to the rescue – pointing out the only defense that has a chance. 

VIII.   
North (Dummy)


Declarer counts out to 5 spades, 3 hearts





♠ Q J 6 5



1 diamond, and therefore 4 clubs. West





♥ A 4 3



must realize that a ruff-sluff can not





♦ A 2




possibly help declarer, (since if he can


West (You)

♣ A J 4 3

East 

take 3 clubs without loss he can take 4).


♠ 3 2





♠ 7 4


♥ Q J T 9




♥ 8 5 2

If West “automatically” returns a club, 
♦ J 8 7 6 4




♦ K Q T 9 5
South picks up the suit with no trouble.
♣ 7 2


South


♣ Q 9 8
Therefore, South exits with a red card,





♠ A K T 9 8



giving up the dreaded ruff-sluff but





♥ K 7 6



giving no indication of the location of 





♦ 3




the precious ♣Q. If South can find it, he





♣ K T 6 5



will make the contract. Don’t hand it to 










him on a platter!  COUNT!!

W        N        E        S


 P         P       1S      4H


4S       5H    All Pass





 N        E        S        W


 P         P       1C       P


3C       P        5C      Pass





 N        E        S        W


 P         P       1D      1S


2S       4S      5D      Pass





South	        North


  1S	         1NT


  4S	         Pass





South	        North


  1S	         4NT


  5H	         5NT


  6C	          6S


 Pass








South	        North


  1S	         1NT


  4S	         Pass








N        E        S        W


 P        P       1D      1S


2S       4S      5D      Pass








N        E        S        W


 P         P       1C       P


3C       P        5C      Pass








W        N        E        S


 P         P       1S      4H


4S       5H    All Pass








South	        North


  1S	         4NT


  5H	         5NT


  6C	          6S


 Pass











